Annexes

Tableau A1l : Test de vraisemblance (LR test)

Variables Chi2 df P > Chi2
Age 9,346 6 0,155
Iprix 76,533 6 0,000
Adhésion 20,628 6 0,002
Rural 37,614 6 0,000
Employé 17,039 5 0,004
Indépendant 22,089 5 0,001
Choémeur 7,014 5 0,220
Autres 12,393 5 0,030
Moyen 8,567 7 0,285
Bon 15,853 6 0,015
Rev2 15,812 6 0,015
Rev3 14,748 6 0,022
Rev4 18,054 6 0,006
Tableau A2 : Statistique de Wald

Variables Chi2 df P > Chi2
Age 9,331 6 0,156
Iprix 62,030 6 0,000
Adhésion 19,968 6 0,004
Rural 33,974 6 0,000
Employé 86,882 6 0,000
Indépendant 93,182 6 0,000
Chémeur 7,014 6 0,000
Autres 75,434 6 0,000
Moyen 90,697 6 0,198
Bon 8,587 6 0,018
Rev2 15,283 6 0,029
Rev3 14,067 6 0,039
Rev4 13,642 6 0,034




